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200 Questions

Que. 1 Which of the following river does not flow in the state of Madhya Pradesh?

1. Chambal
2. Betwa
3. Tapti

4. Saptamukhi
Correct Option - 4

Que. 2 The caves of Bhimbetka were discovered in-

1. 1957-58
2. 2000-01
3. 1857-58
4. 1900-01

Correct Option - 1

Que. 3 Who has authored the book titled 'India’'s Ancient Legacy of Wellness'?
1. Rekha Chaudhari
2.  Reena Bharti
3. Sulekha Mishra
4. Neetu Agarwal
Correct Option - 1

Que. 4 Kaziranga National Park is famous for
1. One-horned Rhinos
2. Tigers
3.  Swamp Dears (Barasingha)
4. Elephants
Correct Option - 1

Que.5 Where in Satna is the Gola Math situated?

1. Maihar
2.  Nagod
3. Paran

4. Raghuraj Nagar
Correct Option - 1

Que. 6 Which of the following planets has no satellite of its own?

1. Jupiter
2.  Mercury
3. Mars

4. Saturn

Correct Option - 2
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Que. 7 Indira Sagar dam was commissioned in the year

1. 1985
2. 1947
3. 1998
4. 2005

Correct Option - 4

Que. 8 Who took oath as the Governor of Madhya Pradesh in July 20217
1. Arif Mohammad Khan
2. Mangubhai Chhaganbhai Patel
3. Kalraj Mishra
4. Jagdish Mukhi
Correct Option - 2

Que. 9 Where is the headquarters of Khelo India Youth Games?

L. Mumbai
2. Kolkata

3. Guwabhati
4. New Delhi

Correct Option - 4

Que. 10 Which among the following district in Madhya Pradesh has the highest literacy rate?

1. Jabalpur
2. Indore

3. Bhopal

4. Sagar

Correct Option - 1

Que. 11  Which of the following is the second largest mosque in India?
1. Babri Masjid
2. Makkah Masjid
3.  Moti Masjid
4. Jama Masjid
Correct Option - 4

Que. 12 In which year did the British annex the state of Nagpur which also included south-eastern Madhya Pradesh?

1. 1853
2. 1854
3. 1851
4. 1852

Correct Option - 1

Que. 13  Where is Jarai-ka-Math temple located?
1. Jhansi
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2.  Hamirpur

3. Kaushambi

4. Sant Kabir Nagar
Correct Option - 1

Que. 14  As per Section 198 of the Companies Act, 2013, which of the following should NOT be deducted for
calculating net profit for the purpose of managerial remuneration?

Loss on sale of a foreign subsidiary
Bonus or commission payable to company staff

w R o=

Interest on debentures
4. Directors’ sitting fees
Correct Option - 1

Que. 15 What is the full form of FEMA ?
1. Funds Exchange Media Agency
2. Foreign Exchange Management Act
3. Finance and Export Management Association
4. Foreign Export Market Agency
Correct Option - 2

Que. 16 "Ayas" term is used for the which of the metal in Early Rig Vedic time?

1. Iron
2. Copper
3. Silver
4. Gold

Correct Option - 2

Que. 17 In which year the first site of civilisation, Harappa was excavated?

1. 1930
2. 1928
3. 1925
4. 1921

Correct Option - 4

Que. 18 What is the length of Narmada in Madhya Pradesh?

1. 1000 km
2. 5050 km

3. 1077 km

4. 550 km

Correct Option - 3

Que. 19 In which of the following districts Tomb of Mohammed Ghaus is situated?
1. Gwalior
2. Mandu
3. Satna

Page- 3



4.

Shahdol

Correct Option - 1

Que. 20 Which Constitutional Article defines the Panchayat Raj?
1. 243 A
2. 2430
3. 243
4, 2431

Correct Option - 3

Que. 21

A. The average person has about one to one and a half gallons of a liquid inside his or her body called blood.
B. The circulatory system is responsible for the movement of blood throughout the body through blood vessels.

C. Blood is the most essential and important part of the body's circulatory system.

meaningful and coherent paragraph.

D. The heart is the pump that makes it all happen

1.
2.
3.

4.

ACBD
ADCB
CABD
ABDC

Correct Option - 1

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a

Que. 22 Choose the most appropriate meaning of the given idiom.

W=

4.

Know no bounds
To have no limits
To be unconscious
To keep away from someone
To lose things

Correct Option - 1

Que. 23  Select the most appropriate meaning of the given idiom.

w =

4.

Under the weather
Able to face the cold
Extremely active
Ready to go out
Slightly ill

Correct Option - 4

Que. 24 Direction: Choose the form of tenses for the given sentence:

4.

w =

I told my sister that we for a picnic that day.
were going
going
2o
was going

Correct Option - 1
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Que. 25 Directions: Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
correct order to form a meaningful and coherent paragraph.

A. IT executives tend to be the opposite — they are in suits and ties and abide by rules.
B. Now imagine putting those opposites in one room and creating a business.
C. Some archetypes are seared into the collective consciousness.

D. Advertising executives are bohemian and less likely to be tied down by conventions.

1. DBAC
2. CDAB
3. CDBA
4. ABD.C

Correct Option - 2

Que. 26 Convert into passive voice.
He did not ring the bell.
The bell is not rung by him.
The bell has not been rung by him.

Ll

The bell was not rung by him.
4. The bell had not been rung by him.
Correct Option - 3

Que. 27 In the following question select from among the four alternatives, the word nearest in meaning to the
word given in capitals.

VERSATILE
1. fluid
2. flexible
3. false

4. flattering
Correct Option - 2

Que. 28 Select the option that can be used as a one-word substitute for the given group of words.
A number of stars grouped together

Cosmos

Globe

Constellation

W=

4. Universe
Correct Option - 3

Que. 29 In the following question select from among the four alternatives, the word nearest in meaning to the
word given in capitals.

DISPUTE
1. argument
2. agreement
3. concurrence
4. compatibility
Correct Option - 1
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Que. 30 Select the correct direct form of the given sentence.
I told Kavya that she was late for her class.
1. Isaid to Kavya, “Why are you late for your class?”
2. Isaid to Kavya, “She was late for her class.”
3. Isaid to Kavya, “You were late for your class.”
4. Isaid to Kavya, “You are late for your class.”

Correct Option - 4

Que. 31 DIRECTIONS: Fill in the blank with the correct Preposition.

She was an affectionate sister who took care her sister.
1. by
2. into
3. at
4. of

Correct Option - 4

Que. 32 Directions: Out of the given options, choose the one which is the correct active voice of the sentence given
below.

A massive tribal welfare program has been launched by the government in Jharkhand.
1. The government has launched a massive tribal welfare program in Jharkhand.
2. The government had launched a massive tribal welfare program in Jharkhand.
3. The government was launching a massive tribal welfare program in Jharkhand.
4. The government had been launching a massive tribal welfare program in Jharkhand.

Correct Option - 1

Que. 33 Choose the option that is the correct indirect form of the given sentence.
Mother said to her son, "Wait here till I return."”
1. Mother told her son to wait till she returns.
2. Mother told her son to wait there till she returned.
3. Mother told her son not to go anywhere.
4. Mother told her son to wait here till she returns.

Correct Option - 2

Que. 34 Direction: Choose the best alternative which best expresses the meaning of idiom/phrases.
Pros and cons
1. Depressed or in low spirits
2. Sorrow and happiness
3. The advantages and disadvantages of something
4.  Very quiet or dull
Correct Option - 3

Que. 35 Direction: In this question, select the word that is most opposite in meaning to the word given in capital letters.
Opaque
1. Vague
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2. Firm

3. Transparent

4. Poor
Correct Option - 3

Que. 36 Directions: Out of the given options, choose the one which is the correct active voice of the sentence given
below.

A cup of coffee was brought to me by her.
She is bringing me a cup of coffee.

She brings me a cup of coffee.

w b=

She brought me a cup of coffee.
4. She was bringing me a cup of coffee.

Correct Option - 3

Que. 37 Arrange the fragments given below to form a meaningful sentence.
A. have for the most part
B. people of Ethiopia
C. lost touch with the peasantry
D. who are trying to modernize their country

1. BCAD
2. BADC
3. BDAC
4. BACD

Correct Option - 3

Que. 38 Directions: Choose the option that will make the sentence grammatically correct and meaningfully
complete.

1 this book since morning.
shall be reading
read

w -

had been reading
4. have had read
Correct Option - 3

Que. 39 Direction: Select the misspelt word.
1. Minuscule
2. Immegration
3. Controversially
4. Successive
Correct Option - 2

Que. 40 Select the most appropriate option that can substitute the underlined segment in the given sentence.
We want to divide the expenses between the three of us.
at

2. among
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3. from
4. for
Correct Option - 2

Que. 41 The antonym of the word '"Triumph’ is :

1. Success
2. Conquest
3. Win

4. Defeat

Correct Option - 4

Que. 42 Rearrange the parts of the sentence in correct order.
P: As we know that some hobbies demand a little guidance from an experienced person.
Q: Our sudden attachment to them without any knowledge may lead to wastage of money.
R: The choice of hobbies is not an easy task.

S: Due to this we may abandon them easily.

1. RPQS
2. RSPQ
3. PQSR
4. PQRS

Correct Option - 1

Que. 43 Select the correct direct narration of the given sentence.
The group leader told Sara that she had been talking nonstop for over three minutes.
The group leader told Sara, “She had been talking nonstop for over three minutes.”

The group leader said to Sara, “You have been talking nonstop for over three minutes."

bl L.

The leader said to Sara, “You are talking nonstop for over three minutes."
4. The group leader asked Sara, “You had been talking for three minutes nonstop.”

Correct Option - 2

Que. 44 Change the voice.
They are building a house next door to our school.
Next door to our school a house is being built by them

Next door to our school is being built a house by them

bl .

A house next door to our school is being built by them.
4. Ahouse is being built by them next door to our school.

Correct Option - 4

Que. 45 Choose the option that best transforms the sentence into its Indirect form:
The teacher said, "You needn't bring your books for the next session."

The teacher said that we needn't bring our books.

The teacher says that we needn't bring your books for the next session.

The teacher told us not to bring our books for the coming session.

b=

The teacher told that we need not to bring our books for the next session.
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Correct Option - 3

Que. 46 The non-metal used in the purple coloured solution applied on wounds as an antiseptic is
1. Chlorine

2. Todine
3. Bromine
4.  Sulphur

Correct Option - 2

Que. 47 Which of the following gases is NOT a major greenhouse gas that causes climate change?
1. Carbon dioxide
2.  Methane
3. Carbon monoxide
4. Nitrous oxide
Correct Option - 3

Que. 48 Which of the following is not used as artificial sweetener?
L. Aspartame
2. Sucralose
3. Saccharin
4. Norethindrone
Correct Option - 4

Que. 49 Cortex is one type of:
1. Meristematic tissue
2. Ground tissue
3. Vascular tissue
4. Epidermal tissue

Correct Option - 2

Que. 50 Which one of the following sodium compounds is used for softening hard water?
1. N3,2CO3

2. NaHCO,
3. NaOH
4. Na2$O4

Correct Option - 1

Que. 51 Litmus solution is derived from
1. Hydrangea
2.  Petunia
3. Cabbage leaves
4. Lichen
Correct Option - 4
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Que. 52 Which of the following fungus is used in baking industry?

1. Morels
2.  Black mold
3. Yeast

4. Mushroom
Correct Option - 3

Que. 53 What converts oxygen into ozone in the upper atmosphere?

1. Ultraviolet radiation
2. Isomerizing radiation

3. Solar radiation

4. Ionizing radiation

Correct Option - 1

Que. 54 Which of the following gas is used in arc-welding?

1. Helium
2. Neon

3. Oxygen

4. Radon

Correct Option - 1

Que. 55 lodine is used to test the presence of
1. Fat
2. Vitamin
3. Protein
4. Starch
Correct Option - 4

in food.

Que. 56 Penicillinis a
1. Antibiotic
2. Fats
3.  Enzymes
4. Proteins
Correct Option - 1

Que. 57 Which among the following is not a prokaryote?

1. Saccharomyces
2. Mycobacterium
3.  Oscillatoria
4. Nostoc
Correct Option - 1

Que. 58 Which element has the largest atomic size out of the options mentioned below?

1. I
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2. N
3. Ca
4. Mg
Correct Option - 3

Que.59 A charge is defined as the amount of electric charge transported by one-ampere current in one

second from one point to another.
Volt
Candela
coulomb
4. None of the above
Correct Option - 3

w R o=

Que. 60 The colors in a Rainbow are formed by phenomenon.
1. Reflection
2. Refraction
3. Diffusion

4. Dispersion
Correct Option - 4

Que. 61 The energy required to move a 60-coulomb charge through a potential difference of 1.5 V is

1. 6.2 mJ
2. 907

3. 107

4. 0.695mJ

Correct Option - 2

Que. 62 People believe that "sleeping under trees at night is not safe." The scientific reason behind this statement is that

trees at night.
Take carbon dioxide
Release carbon dioxide

bl

Take oxygen
4. Release oxygen
Correct Option - 2

Que. 63 Which type of disaster is the Bhopal Tragedy?
1. Chemical
2. Biological
3. Natural
4. Difficult to categorize
Correct Option - 1

Que. 64 Which of the following metal is kept in wax?
1. Sodium
2. Lithium
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3. Silver
4. Magnesium
Correct Option - 2

Que. 65 How many water molecules are present in one molecule of washing soda?

1. 8
2. 7

3. 9

4. 10

Correct Option - 4

Que. 66 The deficiency of which vitamin does not stop the flow of blood from the wound?

1. A
2. B
3. C
4. K

Correct Option - 4

Que. 67 Nose bleeding at high mountains occurs due to:
1. High atmospheric pressure
2. Severe cold
3. Low atmospheric pressure
4. None of these
Correct Option - 3

Que. 68 Weber per second is equivalent to

l. ampere
2. wvolt
3. ohm

4. coulomb
Correct Option - 2

Que. 69 Acid rain refers to the precipitation with a pH
1. less than 5
2. More than 6
3. more than 7
4. equalto7
Correct Option - 1

Que. 70 Which gas is used in cigarette lighter?

1. Propane
2. Butane

3. Methane

4. Redon
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Correct Option - 2

Que. 71 can easily be spread to the computers connected to internet. Such attacks may cause your system to
crash, or your important data may get deleted.
1. CHAT
2. VIRUS
3. EMAIL
4. SEARCH

Correct Option - 2

Que. 72 Which of the following statements is correct regarding replying to emails?

1. The 'Reply BCC' option is used to reply to all recipients on BCC lines. It is not used to reply to the original
sender.

2. The 'Reply’ option is used to reply to the original sender only.

3. The 'Forward' option is used to reply to the original 'sender' only.

4. The 'Reply All' option is used to reply to all recipients on CC lines. It is not used to reply to the original sender.
Correct Option - 2

Que. 73  In the field of Information & Communication Technology, what is the full form of EEPROM?
L. Electrically Erasable Programmable Read-Only Memory
2.  Electrically Efficient Portable Read-Only Memory
3. Electrically Efficient Programmable Read-Only Memory
4. Enhanced Electrical Portable Read-Only Memory
Correct Option - 1

Que. 74 If we want to enter data in the same cell but on a new line in MS-Excel 365, which of the following keyboard
shortcuts will be used?

Ctrl + Esc
Alt + Esc
Shift + Enter
4. Alt+ Enter
Correct Option - 4

wh o=

Que. 75 Which of the following is defined as a unique identifier used to locate a resource on the Internet?
L. Web Page
2. Uniform Resource Locator
3.  Web Browser
4. Unique Resource Linking
Correct Option - 2

Que. 76 Which User Interface enables a person to communicate with a computer through the use of symbols, visual
metaphors and pointing devices.

1. Graphical User Interface
2. Character User Interface

3. Symbol User Interface
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4. None of the above
Correct Option - 1

Que. 77 Which of the following is the default port of POP3 protocol?

1. 160
2. 110

3. 95

4. 995

Correct Option - 2

Que. 78 Select the odd one out from the following options.

1. EPROM
2. DRAM
3. SRAM

4. Magnetic Tape
Correct Option - 4

Que. 79 In MS Excel 2010, which of the following shortcut is used to open the delete dialog box to delete selected cells?
L. Ctrl +-'

2. Shift+"
3. F4
4. Alt+'

Correct Option - 1

Que. 80 Which of the following MS-Excel function will give the factorial result of a number?

1. FAC()

2. FACTORIAL()
3. FACTR()

4. FACT()

Correct Option - 4

Que. 81 is a computer that offers a computer network service to allow clients to make indirect network
connections to other network services.

1. Proxy server
2. Back page

3. Client

4. Server

Correct Option - 1

Que. 82 Examples of output devices are
1. Screen
2. Printer
3. Speaker
4. All options are correct
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Correct Option - 4

Que. 83 Which of the following should be the address of the third cell of the fifth row in MS Excel 2007?
1. C5

2. 35
3. 53
4. 5C

Correct Option - 1

Que. 84 The speed of the hard disk is measured in terms of
L. Revolution Per Minute
2.  Megabytes Per Second
3. Clock Speed
4. Pixel fill rate
Correct Option - 1

Que. 85 In an application window, a is a button that you can drag to the left or right to increase or decrease the
setting value, respectively.
1. Scroll Bar
2.  Spinner
3. Text Box
4. Slider

Correct Option - 4

Que. 86 While surfing the internet, one encounters the abbreviation “DNS” resolving. The term DNS means?
1. Dedicated numerical server
2.  Domain Name system
3. Digital Number System
4. Digital network Software
Correct Option - 2

Que. 87 Which of the following option is used in MS Word 365 to create your table by creating cell, row, and column
borders?

Create table
Quick table
Draw table
4. Insert table
Correct Option - 3

w b=

Que. 88 Which of the following is an example of a text subscript in MS Word?

L. X=12
2. X=10+Y
3. H0

4 xX2+Y?
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Correct Option - 3

Que. 89 Which of the following keyboard shortcuts is used to start a slide show from the current slide?
1. Ctrl + F5

2. Shift+F5
3. FS
4. Alt+F5

Correct Option - 2

Que. 90 Which device controls the operations in sequential control systems?
1. Timer
2. Relays
3. Contactor
4. Control transformer
Correct Option - 1

Que. 91 Vacuum tubes were used in which generation of computers?
1. Fourth generation
2.  First generation
3. Second generation
4. Third generation
Correct Option - 2

Que. 92 Which of the following is an application software?

1. Android
2. Windows NT
3. Ubantu

4. AutoCAD

Correct Option - 4

Que. 93 Which of the following statements is incorrect about the Linux operating system?
1. It is an open-source operating system.
2. It was developed by Linus Torvalds.
3. It is a multi-tasking operating system.
4. Itis a single-user operating system.
Correct Option - 4

Que. 94 Pointing to a person in a picture, Ranjana said "He is the only son of my father". How is the person related to

Ranjana?
1. Nephew
2.  Brother
3. Uncle
4. Father

Correct Option - 2
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Que. 95 Sclect the option that correctly represents the relationship among the following:

Director, Actor, Actress

©IE)og] £

Correct Option - 1

Que. 96 Seven friends A, B, C, D, E, F and G study in the same college. F and G are second eldest and eldest
respectively, between them. E is elder than only A and C. D is the fourth eldest. A is not the youngest. How
many friends are older than E?

1. 2
2. 1
3. 3
4. 4

Correct Option - 4

Que. 97 Select the letter-cluster from among the given options that can replace the question mark (?) in the following

series.
MGX, IGB, EHF, AHJ, WIN, SIR, ?
1. WHN
2. OHW
3. 0OJv
4. WIN

Correct Option - 3

Que. 98 A paper is folded at the dotted lines as shown in the first two figures, and cut as shown in the third figure. How
will it appear when unfolded?

SR

Vd
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AN pd

Correct Option - 3

Que. 99 Select the figure that will come next in the following series.

o A
O O

O 0
O A

A O
o ¢

O

O

A

O

o O

Ol |0 oflc
Ol B

O <llo

A

Correct Option - 4

Que. 100

el

language?
IRTITUNNO
NOITIRTUN
IRTUNNOIT
TTIONNUTRI

In a code language, HIBERNATE is coded as REBIHETAN. How will NUTRITION be coded in that
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Correct Option - 3

Que. 101 In a certain code language, FOURTH is written as FRUOTH. How is LESTER written in that code language?
1. LESTRE

2. LTSEER
3. LTSREE
4. LSTEER

Correct Option - 2

Que. 102 In a certain code language, “FUMES” is written as “62113519” and “MONTE” is written as “131514205”.
How is “CARLO” written in that code language?

1. 31181215
2. 4181256
3. 4111185
4. 21812165

Correct Option - 1

Que. 103  Which of the following numbers will replace the question mark (?) in the given series?
5,24,61,122,213,?

1. 340
2. 320
3. 350
4. 334

Correct Option - 1

Que. 104 Eight people M, N, P, S, T, V, X and Y are sitting in a straight row and all are facing north. M sits third from
one of the extreme ends of the line. N sits second to the right of M. As many people sit to the right of N as to
the left of P. S sits third to the right of P. X sits to the immediate right of Y. Only one person sits between X and V.

How many people sit to the right of T?

1. Two
2. One
3. Three
4. None

Correct Option - 2

Que. 105 By interchanging the given two signs and numbers which of the following equation will be correct?
+and —, 2 and 4
9-5+4x%x2+8=80
7x4-2+1+5=13
7-8+2+16%x4=18
4. 5+7x4-8+2=5
Correct Option - 2

wr o=

Que. 106 A statement and some conclusions are given below.
Statement: Basic pay should be included in human rights.
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Conclusions: 1. It means that the government should distribute bail to those who do nothing.
II. Ensuring basic pay is a social security measure.
Which of the following conclusion(s) logically follows from the given statement?
1.  Only conclusion I follows.
2. TandII both follows.
3. Only conclusion II follows.
4. Neither I nor II follows.
Correct Option - 3

Que. 107 DIRECTIONS: There are five boys S, K, M, A and R. S is shorter than K but taller than R. M is the tallest. A
1s a little shorter than K and a little taller than S.

Who is the shortest:

1. S
2. A
3. K
4. R

Correct Option - 4

Que. 108 If a box contains 3 white cushions, 4 red cushions, and 5 blue cushions, what is the probability of selecting a
white cushion if a cushion is selected?

1. 2/3
2. 3/4
3. 1/4
4. 1/9

Correct Option - 3

Que. 109 Vijendra walks a certain distance, say X metres, from his home towards the west. Then he turns left and walks
23 metres. After that, he turns left and walks 36 metres. Then he turns left again to walk 23 metres. He finally
turns left and walks 18 metres to reach his home. Find the value of X.

1. 41
2. 18
3. 22
4. 20

Correct Option - 2

Que. 110  Identify the option figure that when placed in the blank space completes the pattern in the given question

N

-

NN

/

(A
/
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AN

AN

NAINZINX

AN

Correct Option - 4

Que. 111

Select the figure from the choice which will continue the series.

A A
L]

O H
- O

+ +
O

H O
O
H O

+  +
-

_,_,_\_
—

O
>

._!_

O

O

B0 B> i+ D>

4

O

+
A
x|
[
[
]

Correct Option - 1

|
(2)

A A
(3)

(4)

Que. 112 Direction: Study the following information carefully to answer the questions given below-

Eight persons A, U, W, P, D, L, C and X are sitting around a circular table facing outside the center not
necessarily in the same order. L sits immediate left of X. Three persons are sitting between C and W.A sits second to the
left of P who sits immediate left of C. U sits third left of D.

Who sits fourth to the left of C?

1.
2.
3.
4.

U
X
W

Data inadequate

Correct Option - 3
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Que. 113 Seclect the option that is related to the third figure in the same way as the second figure is related to the first
figure.

H
>

D
<5
~J

|
T
N <ae>
o]
-
<3
a 9
(1T
B

> < -

A

\®]
N
<al|c

b
Il E><

</"'
™~

\ug‘f

4.
.ﬁ\ ‘\1 ‘\[:j?

& 4

Correct Option - 3

Que. 114  In the following question, select the number which can be placed at the sign of question mark (?) from the
given alternatives.

13 11

6 5

2

21 25

20
22
10
4. 15
Correct Option - 4

|| W oo

w e~

Que. 115  The given Problem Figure is embedded in one of the given Answer Figures. Which is that Answer Figure?

Problem Figure

—

Answer Figures

i
X
—

A B

Y

= [(
l/>/ ~
C

Page- 22



W N =
w > O

4. C
Correct Option - 3

Que. 116 A Cube is coloured blue on all the faces. It is then cut into 64 smaller cubes. These cubes are now separated.
The number of smaller cubes with no surface coloured is:

L.

2. 8
3. 16
4. 12

Correct Option - 2

Que. 117 Direction: In the question generally a set, group or series of numerals is given and you are required to trace
out the numerals following certain given conditions.

N rank 5% from the start in the class, S is 8t from the last. If T is 6™ after N and just in the middle of N and S, then how
many students are there in the class?

1. 23
2. 24
3. 25
4. 26

Correct Option - 2

Que. 118 Find the missing number from the given responses in the following question.

1. 223
2. 224
3. 225
4. 227

Correct Option - 3

Que. 119  Which of the cubes in the given options can be made from the below unfolded cube?

1

3121416
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2
5
3
1)

3
|4
¥

2)
5
1 3
3)
1. cubel
2. cube?2
3. cubel &3
4. cube3

Correct Option - 1

Que. 120 Two dice are rolled, find the probability that the sum is 6?

1. 1/12
2. 2/9

3. 5/36

4. 19

Correct Option - 3

Que. 121  Select the correct mirror image of the given combination when the mirror is placed at MN as shown below.

L. Jlgs€acia
2. Kgsgoacte
3. dgs€ecis
4. Mgs€ocls

Correct Option - 3

Que. 122  Find the value of:
16 - (25% of (14 x 10 + 35+ 12 x 10+ 15))

1. 11
2. 13
3. 7
4. 9

Correct Option - 2
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Que. 123 This Data show that water is available on different continents.

Oceania
13%

N.
America
16%

S. America
26%

What is the available water ratio between North America, South America and all the remaining Continents?
1. 7:6

2. 21:29
3. 5:8
4. 3:5

Correct Option - 2

Que. 124  The following bar graph shows the number of students (in hundreds) who have opted for different courses A,
B, C and D in 3 years in a college. Study the graph and answer the question.

Ua e FEc Fp

;:" 6
T ¢ 4.5 - 3
5 & :
= ] b9 4
= 4 +— 7o
= o] 3.5
2 3 1| |25 3 Foced —T_é
_g b I:I'I:I 2.5
S & 22
52 41— o e
Y BB 4 / A )
Q FaPad / ] 208
5 11— e i
£ ey f 2 fat!
é 0 : p_o_n : /l o) )
2001 2007 2012
Year
In the year 2007, the average number of students across the four courses is (in hundreds):
1. 25
2. 15
3. 22
4. 27

Correct Option - 1

Que. 125 IfA:B=3:4,B:C=5:6,andC:D=12:17, whatis A: D?

1. 17:37
2. 30:34
3. 13:31
4. 15:34
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Correct Option - 4

Que. 126 “Leadership is the activity of influencing people to strive willingly for group objectives."”
This statement is given by :
George R. Terry
Harris Thomas A.
Davis, Keith
4. Rensis Likert
Correct Option - 1

B

Que. 127 A large company called "AS Ltd." is involved in the assembly of air conditioners. A recent "Time" and
"Motion" study that the corporation did reveal that, on average, one worker could install 10 air conditioners in
a day. The targeted volume of the company in a day is assembling of 1,000 units of air-conditioners. The company is
paying attractive allowances to prevent workforce turnover and absenteeism. The employees are all content. Even then the
assembling of air-conditioners every day is 800 units only. To figure out the explanation, the corporation compared actual
performance of each worker and discovered through CCTYV that some of the staff were busy in gossiping.

Identify the function of management discussed above.
1. Planning
2. Directing
3. Controlling
4. Staffing
Correct Option - 3

Que. 128 Angrakhaa Ltd. is clothing brand specifically focused on plus sizes clothes which are not easily available in
the market in affordable prices. Initially the business was into traditional retailing what the response from the
customer was not satisfactory. It then decided to open a website and create an awareness among the audience about
problem of shortage of plus size clothes in the market. It also used the power of social media to create awareness. This
idea became a huge success for the brand.

Identify which of the following forms of marketing was adopted by Angrakhaa Ltd.
1. Mouth to mouth marketing
2. Digital marketing
3. Surrogate marketing
4.  Negative marketing
Correct Option - 2

Que. 129  Rohit works as a production manager in surya Enterprises Limited. He has been given the task of getting 1000
units of hand woven table mats manufactured at the cost of 150 per unit within 10 days. In order to be
acknowledged as an effective manager, he must ensure that

1. The cost of production is less than ¥150 per unit
2. The cost of production does not exceed X150 per unit
3. The work is completed within 10 days even at a higher cost per unit
4. None of the above
Correct Option - 3

Que. 130  The ratio of bank's capital to its assets is known as
1. Statutory Liquidity Ratio
2. Cash Reserve Ratio
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3. Capital Adequacy Ratio
4. Debt-Equity Ratio
Correct Option - 3

Que. 131 What is the primary objective of the monetary policy in India?
1. Employment generation
2.  Printing currency notes
3. Price stability
4. Credit regulator
Correct Option - 3

Que. 132 The Foreign Exchange Regulation Act was replaced by the in India.
1. Foreign Exchange Currency Act
2. Foreign Exchange Finances Act
3. Foreign Exchange Funds Act
4. Foreign Exchange Management Act
Correct Option - 4

Que. 133  The main objective of packaging is:

High Pricing of product
Protection of Product

Ll

Provide assurance of quality
4. Above all
Correct Option - 2

Que. 134 means the classification of standardized product into certain well-defined classes or groups.
1. Grading
2. Segmentation
3. Standardization
4. Specification
Correct Option - 1

Que. 135  Which of the following is not a component of India's securities market?
L. Commodity futures
2. Small savings in national saving certificates
3. Government bonds
4. Corporate equity
Correct Option - 2

Que. 136  Stock Exchange works as a mechanism for valuation of securities through the forces of demand and supply.
Identify the related function of performed by the stock exchanges.

1. Providing liquidity and marketability to existing securities
2. Safety of transaction

3. Pricing of security
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4. Spreading of equity cult.
Correct Option - 3

Que. 137 The capital market consists of
1. Development banks
2. Commercial banks
3. Mutual funds
4. All of the above
Correct Option - 4

Que. 138 Which one of the following is not an example of profitability ratios?

1. Current Ratio
2. ROI
3. EPS

4. None of these
Correct Option - 1

Que. 139 The father of administrative management is:
1. EFL Brech
2. FW Taylor
3. Henry Fayol
4. Peter Drucker
Correct Option - 3

Que. 140  Esprit De Corps in management means
1. Team work
2. Doing by one
3. Team fecling
4. Doing nothing
Correct Option - 1

Que. 141 The use of borrowed funds, at a fixed cost for financing firm is known
1. Trading on equity
2. Trading on thin equity
3. Trading on thick equity
4. Capital gearing
Correct Option - 1

Que. 142 If there are demands made for two or more goods and services in order to satisfy a single need, such demand is
known as

Joint Demand
Income Demand

Composite Demand

el

Derived Demand
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Correct Option - 1

Que. 143 A company is called an artificial person because
1. it is invisible and intangible
2. it cannot be used in the count of law
3. it does not have the shape of natural person
4. it exists only in contemplation of law

Correct Option - 1

Que. 144  According to section 43 of the Companies Act,2013, how many types of share capital exists?

L. 5
2. 4
3. 3
4. 2

Correct Option - 4

Que. 145 The workers of Guarang Ltd.are unable to use new computerised machines that the company imported to meet
the rising demand. As a result, the workers are asking the supervisor for more direction, and the supervisor is
already overworked from their constant calls.

Suggest which of the type of training shut the management adopt so that the work of the supervisor can be eased out.

1. Vestibule training

2. Lectures
3. Case study method
4. Role play

Correct Option - 1

Que. 146  Instead of dividing ¥3,910 among P, Q and R in the ratio % :% :% , by mistake it was divided in the ratio 4 : 5 :
8. By how much did R gain in this transaction?

1. %990
2. %890
3. %940
4. %900

Correct Option - 1

Que. 147 What is 20% of 40% of 30% of 75% of 34007

L. 61.5
2. 61.2
3. 6l.1
4. 614

Correct Option - 2

Que. 148 M is the largest 4 digit number, which when divided by 4, 5, 6 and 7 leaves remainder as 2, 3, 4, and 5
respectively. What will be the remainder when M is divided by 8?
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3, 5
4. 4
Correct Option - 1

Que. 149 The average marks of 40 students of a class was 73.5. If the average marks of boys is 72 and 76 that of girls,
then what is the ratio of boys to girls?

3:5
5:3
4:3

P =

4. 3:4
Correct Option - 2

Que. 150 | (%)2 x (1—33)‘9 = (%)2’“rl then the value of x is
1. -6
2. -5
3. 5
4. 6

Correct Option - 1

Que. 151 25 cards are numbered from 1 to 25. One card is drawn at random. The probability that the number drawn on
the card is not a multiple of 3, is

17

1. 52
13

2. R
8

3. %
4 1
’ 25

Correct Option - 1

Que. 152 In the number of days in which B and C together can do a work, A alone can do that work in as many days if A
and B together can do that work in 10 days and C alone can do that work in 50 days In how many days will B
alone do the work?

1. 18 days
2. 20 days
3. 25 days
4. 30days

Correct Option - 3

Que. 153 ¢ (z + %) = 54/2, then what is the value of (x* + x ~4)?

1. 2542
2. 2650
3. 2452
4. 2302

Correct Option - 4
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Que. 154 If GCD and LCM of two numbers are 29 and 174 respectively and the numbers are in the ratio 1 : 6, then what
is the largest number amongst the two numbers?

1. 152
2. 174
3. 166
4. 146

Correct Option - 2

Que. 155 In atriangle ABC, 2A =x°, 2B =80° and O is the incentre of AABC. ZACB =30° and £BOC =y°. The
values x and y respectively ?

1. 70,125
2. 75,120
3. 85,130
4. 25,110

Correct Option - 1

Que. 156  Kamala got married six years ago and her present age is 1% times her age of the time of her marriage. Age of
her son is 10% of her present age. What is her son’s age ?

1. 3years
2. 4 years
3. 2years
4. 5Syears

Correct Option - 1

Que. 157 Find the average of median and mode of the given data: 15, 17, 17, 17, 17, 16, 16, 22, 32, 45
1. 16.5

2. 175
3. 17
4. 16.75

Correct Option - 3

Que. 158 A's monthly salary is 50% more than B's monthly salary. C's monthly salary is ¥15,000 more than B's monthly
salary. Their total monthly salary is ¥2,95,000. The salary of B is what percentage (correct to one decimal
number) of that of C?

1. 85.6%
2. 82.6%
3. 87.3%
4. 84.2%

Correct Option - 4

Que. 159 What is the difference in the amount of interest on Rs 20,000 if it is invested for 2 years at 10% compound
interest and 10% interest under simple interest compounded annually?

1. Rs200
2. RsO

3. Rs100
4. Rs 2,000
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Correct Option - 1

Que. 160 A train travels with a speed of 144 kmph and crosses the pole in 10 sec. If the length of the bridge is 75% of
the length of the train, then find the time taken by the train to cross the bridge (in sec).

1. 23sec
2. 11.5sec
3. 17.5sec
4. 35sec

Correct Option - 3

Que. 161 How many words can be formed from the letters of the word, 'SIGNATURE' to that the vowels always come

together?
1. 720
2. 1440
3. 2880
4. 17280

Correct Option - 4

Que. 162 80 liters mixture is to be distributed in Glycerin and Rosewater in the ratio of 7 : 1. If 8 liters Glycerin and 4
liters Rose water is added to the mixture, then find the percentage of Rosewater in the mixture

350/23%
450/46%
550/23%

4. 350/26%
Correct Option - 1

bl

Que. 163  The surface area of two spheres are in the ratio 9 : 16. Then ratio of their volumes is
1. 27 : 64

2. 27:48
3. 81:64
4. 81:256

Correct Option - 1

Que. 164 A, B, and C start a business. A invest 33.33% of the total capital. B invests 25% of the remaining and C invests
the rest. If the total profit at the end of a year is Rs. 162000, then A's share of profit is:

1. Rs. 45670
2. Rs. 54000
3. Rs. 45000
4. Rs. 42000

Correct Option - 2

Que. 165 The combined exports of the country ABC in the year 2014, 2015 and 2016 are what percent less than the
imports of the country ABC in the years 2014, 2017, and 2019?
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COMPANY ABC

717

2014 2015 2016 2017 2018 2019

—=—IMPORT == EXPORT

1. 36.98%
2. 35.6%
3. 28.8%
4. 38.8%

Correct Option - 1

Que. 166 A washing machine marked at 328,000 is sold at two successive discounts of 15% and 10%. An additional
discount of 5% is offered for cash payment. The selling price of the washing machine at cash payment is:

1. 321,458
2. 19,568
3. 20,349
4. 18,851

Correct Option - 3

Que. 167 If Mean is 21, Median is 19. Find Mode.

1. 14
2. 15
3. 13
4. 18

Correct Option - 2

Que. 168 Two friends, A and B start from places X and Y, respectively which are at a distance of 390 km. Find the time
taken by them to cross ecach other, if they are travelling in opposite directions at a speed of 5 kmph and 8

kmph, respectively.

1. 10hrs
2. 20hrs
3. 30hrs
4. 40hrs

Correct Option - 3

Que. 169 The ratio of the ages of A and B, four years ago, was 4 : 5. Eight years from now the ratio of the ages of A and
B will be 11 : 13. What is the sum of their present ages?

1. 76 years
2. 72 years
3. 96 years
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4. 80 years
Correct Option - 4

Que. 170 A and B both can complete the work in 16 days. In how many days A alone can complete the work if
efficiency of B and A are in ratio 3 : 4 respectively?

1. 28days
2. 26 days
3. 24 days
4. 12 days

Correct Option - 1

Que. 171 How many metres of 2-m-wide cloth will be required to make a conical tent with the diameter of the base as
14 m and slant height as 9 m ignore wastage?

1. 66m
2. 88m
3. 9m
4. 77m

Correct Option - 3

Que. 172 Which of the following points is equidistant from the point A (-3, 4) and B (-5, 6)?

1. (-5, -4)
2. (-4,-5)

3. (-4,5)

4. 4,5)

Correct Option - 3

Que. 173 A boat can travel 5 km upstream in 15 minutes. If ratio of the speed of the boat in still water to the speed of the
stream is 6 : 1, then how much time will the boat take to cover 19.6 km downstream?

54 minutes

26 minutes

W o -

42 minutes
4. 31 minutes
Correct Option - 3

Que. 174  Study the following graph carefully and answer the question given below.
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Exam Enrolloed

Others
16%

TET
10%

Diffence
15%

Railway
17%

What is the Ratio between Railway, Bank and all others?

1. 45:55
2. 48:42
3. 39:61
4. 37:63

Correct Option - 3

Que. 175 A tank is normally filled in 6 hours but it takes 4 hours longer to fill because of a leak in its bottom. If the tank
is full, the leak will empty it in

1. 24 hours
2. 15 hours
3. 12 hours
4. 10 hours

Correct Option - 2

Que. 176 §&3 ¥ UG UgH TR

ofd JaRT O IR 11

ST gREg R A==

U IHd YT S URARE |
SR Ufeeral H ST 3¢ 82

1. Qg

2. IOR3T

3. JWrs

4. Jdr

Correct Option - 3

Que. 177  FgRifad e & I 91 91T 8- SgHE Y P12
I IAFGHETEAIEN

2. {7l S UieT T |
3. gfe gyl gidl al Bod 33T gl |
4. gufafsareRu Y1

Correct Option - 3
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Que. 178 'Wﬁ?ﬁﬁﬁ&ﬁﬁ’ﬂglaﬂﬁ&ﬁ-m%
L g ot o wed S gt 81

2. FabRGH H el 781 serdl

3. PR ANl B G et el gl 8

4. gl sfed & gmq rgad safdd &1 uHTE 8t gsdr

Correct Option - 4

Que. 179  gfdfes Bva BT ISTER B-

1. gaar
2. Qg
3. 9R3T
4. ¢4

Correct Option - 1

Que. 180 <33 o] AR WMo S AT S 2

1. 3@
2. oad
3. g
4, Ju0

Correct Option - 3

Que. 181 7Tg AR § 1 3R § UG H R 8-

l. HROTBRD
2. IfYPRU HRB
3. TIYPRD
4. 3MUGH HPRD

Correct Option - 2

Que. 182 <RI o TR Teil s IRAT Bl 3N IR 41 U IR b s dic| "

I U § BH-IT DR [T § 2
L. I 3EBR
2. XAV ADR
3. gHP AABR
4. TUP 3fcBR
Correct Option - 3

Que. 183 R GeaTel Wew § I' I BT HI &-

1. TYred gdae
2. ol qcHH
3. dfew adae
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4. W IdHH

Correct Option - 4

Que. 184 37 U3l ¥ faT 71T eqt 1 U1 yafrarl/AaHHrdes Weg fau ¢ fased! # ¥ gfu)

BT
1. Hch
2. W
3. o
4, qd

Correct Option - 3

Que. 185  IUH 3R IUNY BT 310G T HEardl &2

1. 394y
2. TUp
3. yifqdE
4. Il

Correct Option - 2

Que. 186 FHY Yg TR IR &1 TR BT HT SR a1 gar 34 & oy T2t eepifea &-
1. g g1 7 Iorell, I A g s

2. 3ol ® RR e ol el s s

3. TS W a8l B fBard

4. P16 B glel TR-IR 8! Tgal

Correct Option - 2

Que. 187 70y &7 g T A D1 1 I faeld Tt 22

1. 3
2. WY
3. 3T
4. gd

Correct Option - 2

Que. 188 ST fob e X T W MG & 2

1. 3Eyd
2. YgHED
3. dH

4. g

Correct Option - 3

Que. 189 3HTAUIfST BT T WA faug e A ¥ wi arg?
L. 3fpla 4 Uifgd
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2. 3PpId & foru difsd
3. 3l Bl difed

4. 3P R UifSd
Correct Option - 1

Que. 190 ]HTTf {5y eg HT T 52
1. I
2. g
3. 3
4. dg
Correct Option - 4

Que. 191 '3/ 3 A @AY | 91T H HR o-

I 3UICH $RP
2. &dl HR®
3. JHY PRSP
4. PN HRD

Correct Option - 2

Que. 192 IY HId AR HIY P T HII- 3BT @ |
T §aT & SR § JiaT g3 IR S 1|

_H YA Y P a1 SR B2

. IdEl DR

2. gAP DR

3. XY 3EHR

4. IJUAT AADBR
Correct Option - 1

Que. 193 3 GAM P G2t Ug UYH B, I Hed -
. Sgsiie 99N
2. ¢E9EN
3. PUHYRY IAN
4. d>Y JHRT

Correct Option - 2

Que. 194 fHfIRYd wead & T IR-TR FHMYE ez fou U §1 394 9§ U8 SR & ©u ¥ fdsbey &1 79+
Bl

T 3G - HHI-
L JUeT AT
2. foRad g
3. JeRIEH
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4. oo 319 T
Correct Option - 4

Que. 195  Fa. BT Yoq H HI-T7 SUWHT TG g1 2

1. g

2. 9
3. 99
4. g{

Correct Option - 2

Que. 196  fyd=r: FofaRad e &1 faay wse IasL-

TRET
1. faug
2. fagm
3. e
4. IOpifa

Correct Option - 3

Que. 197 HYJ Hig 79T HT Higd|
SEd a9 Ya-1 fafem sifa, agfer wfe T 3fgul- A g A9 e wxa 82

I GRS
2. T
3. IR
4. YIJHEDG I

Correct Option - 1

Que. 198 HgTeRr &1 9 w3

l. g+ 3R
2. Hgl+3™

3. Hg+3RM
4. T8+ AR

Correct Option - 4

Que. 199  FHRIRYd sg 1 TUigarE! 781 §, J1d BT

Sfdra

1. T_9
2. e
3. <afe
4. iy

Correct Option - 4
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Que. 200 fTET Teg F <3P T:

L AN
2. YAy
3. gauadg
4. I

Correct Option - 3
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